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Ogd H¥s0tE 2& & Jt=d g EX SA
200,000& * 85m 17,000
O=d EEcl UWahts Y2 ZF ZA
80,000 =* 287.5m 23,000
O=% Of&1el AMiE s2 T SM
80,000& = 162.5m 13,000
O=2& ¢zl s=2 Ul A
100,000& * 120m 12,000
023 U s¢tits Y2 ZH SA
80,000& = 100m 8,000
O0=2% Es0i2 dY=2 WX EX SA
200,000& * 50m 10,000
O0=% 242 &€ x4
10,000,000& * 14l 10,000
O=% 282 =2 A &X SAM
100,000& * 100m 10,000
O=% 3Z1el 5018 o2 Z¥
16,000& = 1,875m 30,000
03 A& S THHI 3,462 8,970 A5,508
OLAR FUSEALY AR
1,282,000,000& * 0.27% 3,462
AN UK ES XS E A 256,000 0 256,000
= 128,000
s 128,000
401 Al HIZ 201 Y| 256,000 0 256,000
= 128,000
s 128,000
01 A& HI 256,000 0 256,000
HolZ ISP E LAY X SA
256,000,000 * 14 256,000
= 128,000
i 128,000
FoHAAMNG (SHAS) 1,254,500 1,103,960 150,540
A2 EFEHAALS 1,254,500 1,103,960 150,540
401 AIEHI L 20 1,254,500 1,103,960 150,540
01 A& HI 1,250,000 1,100,000 150,000
O[AI&HI] 1,250,000
O0dY 2A=21cl s& X Ul SA
100,000& * 160m 16,000
OgYd =212l Sti==2 &EHl A
100,000& * 200m 20,000
Ody &¥2el s&Z X Ul SA
100,000& * 140m 14,000
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2N

S ANt

. T AONY
Ghel: FQHAAG (SHAR)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 543l S=257 Ul A
100,000& * 200m 20,000
02y &84 =3 ZHl SA
100,000& * 160m 16,000
0% Ys1el Sti==2 EHl A
100,000& * 180m 18,000
O Hal2el Sti=2 &EHl A
100,000& * 150m 15,000
OZY =412l S22 FHl S M
100,000& * 150m 15,000
O sE1el sZA EH SA
100,000& * 160m 16,000
Oz &80t =0 2 SA
250,000& = 80m 20,000
O&s Z2oslts ot I ZAt
80,000& = 250m 20,000
O&3 &322 =2 HHl At
100,000& * 200m 20,000
O3S el =2 L =2 FHl ZSA
100,000& * 200m 20,000
OHs S=A0NS == FHl S M
100,000& * 200m 20,000
Ods g50tssl2 =8 FHl A
20,000,000& * 14l 20,000
Ods s0tSs =22 &X SA
100,000& * 200m 20,000
O3S RMEDS == FHl S M
100,000& * 200m 20,000
O&s AMELNS =2 S A
50,000& = 200m 10,000
O3 NSOt =8 Fal At
10,000,000& * 14l 10,000
Ods Eel sZX Fdl A
80,000& = 250m 20,000
O4Z 22l =2 &Fdl AL
100,000& * 200m 20,000
OH& #Hel 52 Z& SA
80,000& * 250m 20,000
O4x dsel =2 Il A
100,000& * 200m 20,000
Odx Z2el =2 Ful Mg
100,000& * 200m 20,000
CHZ Fdel s2 ZH SA
80,000& 125 10,000
O4Zl 2ate| =2 Ul A
100,000& * 100m 10,000
O3& 30t =2 EHl S A
100,000& * 160m 16,000




2N

S ANt

S S AN
el FOIBOIAIR (SPIA R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=2%d AF0IE =2 &l A
100,000& * 200m 20,000
O03% 2512l th== FHl SA
100,000& * 120m 12,000
O=% A0S =2 &Edl A
100,000& * 120m 12,000
O=& XN=0t2 =2 &l A
100,000& * 200m 20,000
O=% Sttt A=4X SAM
250,000& * 80m 20,000
OX= Z3e REMS WX X ZSA
20,000,000& * 14l 20,000
Od= Oldel~E Xl OtAZE IALRI SA
16,000& = 1,250m" 20,000
OX=0de Ot R s2 Z& SA
80,000& = 250m 20,000
OdXlsE dH™el ZSEMIg & 2T I SAM
50,000& = 400m’ 20,000
OUl= 3+l 52 Z& SA
20,000,000& * 14l 20,000
OANME MEE 52 ZF SA
80,000& = 250m 20,000
OANZB F¢s =2 Z&E S M
80,000& * 250m 20,000
OANE 208 s2 & SA
80,000& = 250m 20,000
OMNME stE s2 ZF SA
80,000& = 250m 20,000
ONE 2EE s2 & SA
80,000& = 250m 20,000
O&X FIOES s2 ZF SA
80,000& = 250m 20,000
OLX Z=s0ts s2 & SA
80,000& = 250m 20,000
OGL &pts 0tA2 TH I A
16,000& = 1,250m" 20,000
O&Z RF ¢t IF ZAM
16,000& = 1,250m" 20,000
O&X ite| =202 =& &l
20,000,000& * 14l 20,000
OzZAN &2 Ngs s2 & SAM
80,000& = 187.5m 15,000
OzZAM XEOtE s2 2 SA
80,000& * 112.5m 9,000
O=2AM M78el =2 Z& ZA
80,000& = 250m 20,000
Oz=AN a0t 82 FHl SM
80,000& * 175m 14,000




A TAOHE L

M SAONY

el FOIBOIAIR (SPIA R (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZAMN =0t =2 &l A
100,000& * 70m 7,000
OZA &SNS s2 Z& SA
80,000& * 112.5m 9,000
O=2ZA ZEHOIS BYH 25 SA
250,000& = 80m 20,000
OZA Ecl Ot s2 Z& A
80,000& * 75m 6,000
ONZ S0t =2 &FHl A
100,000& * 200m 20,000
OANMZ= MHBH s2 Z& A
80,000& * 125m 10,000
ONzs E2F0tS =2 EHl SAt
100,000& * 150m 15,000
OMNMz &lits s2 Z& SA
80,000& * 125m 10,000
OMNM= 28OS s Z& SA
80,000& * 250m 20,000
OMNZ OlFOIE ot==& &Hl ZA
100,000& * 120m 12,000
ONSE R&ES0IE s2 ZF SA
80,000& = 162.5m 13,000
Ostdt BUOIZ 842 B4 TA
100,000& * 170m 17,000
Ottt K& =2 HE ZA
80,000& = 200m 16,000
Ogtat XIANE s2 2 ZA
80,000& = 162.5m 13,000
Osa AEOLS W42 ZHl B A
100,000& * 150m 15,000
Ostat MEOtE s2 ZF SA
80,000& =* 237.5m 19,000
Ostit AEOE =2 ZE ZA
80,000& = 250m 20,000
o0 MBS s2 ZF SA
80,000& * 250m 20,000
o0l WXEOE s2 E= SA
20,000,000 * 14l 20,000
o0l A0S A= Z A 250,000& * 80m 20,000
o0l otatits =2 &dl A
100,000& * 200m 20,000
o0y =30t s2 & SA
80,000&  250m 20,000
03 Al S THHI 4,500 3,960 540
OSY FOHAAY AL
1,250,000,000& * 0.36% 4,500
St2H=8es 29 15,130 715,130 A700,000
st2A=E8 &3 & 15,130 15,130 0




SA: SADHY D
S S AN
Sl BSASUUL 2 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 12,480 12,480 0
01 At 22l 9,000 9,000 0
Oflget=&Hl] 6,500
oB=ASUYL B2 BI4LE
500,000& = 23l 1,000
OBtSASUE 2Y AREBE 2|
2,500,000& * 14 2,500
OgtsA=Hs 222 M
1,000,000& * 32 3,000
Oolgdxz] 2,500
OSt=sA=uEHs 2F SAI 2=
2,500,000 * 13l 2,500
02 =224l 3,480 3,480 0
OBSASUZET 3T T2
40,000 = 12& 480
Ost=2A1=CEs AL B8 =
2,000,000 * 13l 2,000
Ost=H=s 22 2350
500,000& = 23l 1,000
202 O4dl 2,650 1,300 1,350
01 = LH 4 1l 2,650 1,300 1,350
Ost2ASYs 29 20
20,000& = 5Q1 = 26.5Y 2,650
Lot s EIMNE 10,399,571 9,853,700 545,871
X 7,628,000
s 2,771,571
SHATHXNSE EHI 3,761,000 4,289,000 A 528,000
Xl 2,967,000
s 794,000
ANSHATHASE Z ALY 2,643,000 510,000 2,133,000
Xl 1,849,000
s 794,000
202 04 Hl 2,000 0 2,000
Xl 1,400
s 600
01 = LH YI 2,000 0 2,000
OAMEBSHATHASE ZHIALY XE=2el WAL
2,000,000& * 14 2,000
Xl 1,400
s 600
401 AIEHI L 20 2,492,388 510,000 1,982,388
Xl 1,743,572
s 748,816
01 A& Hl 2,489,894 506,787 1,983,107
O[AI&HI] 2,489,894




SN SADHE D
Y AP MAHESHY
CHel: SHAMKSEFY (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ONZAAMAZE FHIAL
2,489,894,000& * 14 2,489,894
Xl 1,741,826
e 748,068
03 AIE 2 0H bl 2,494 3,213 AT19
ONBSHANSEIHIAY 2|
2,494,388,000& * 0.09998% 2,494
X 1,746
[ 748
402 2I2H X201 M 148,612 0 148,612
Xl 104,028
e 44,584
02 2I2HCH & At S HI 148,612 0 148,612
OANSHLAMA S EHIAIY IS2 A
148,612,000& * 14 148,612
Xl 104,028
e 44,584
MESS(EYS)ATHXNSE ™AL 630,000 663,000 A 33,000
Xl 630,000
202 OF Hl 1,400 0 1,400
Xl 1,400
01 = LH o4 1l 1,400 0 1,400
Otlsg SLELMASEZHIAMY X2l
=L I 1,400,000& * 14l 1,400
Xl 1,400
401 Al HI & 28I 628,600 663,000 A 34,400
Xl 628,600
01 A& HI 626,030 658,823 A32,793
O[AI&HI] 626,030
OMSSESTLE AMX ESEHHIAY
626,030,000& * 14 626,030
X 626,030
03 Al 20 HI 2,570 4,177 A 1,607
OtSSESLE AMANSEZHAY AILRUH
2,570,000& * 14 2,570
Xl 2,570
MEH SESHN2LESHALY 488,000 0 488,000
Xl 488,000
401 Al BIZ 201 8] 243,000 0 243,000
Xl 243,000
01 A& HI 241,251 0 241,251
Od=2H SEZSAX 843 AL
241,251,0008 * 14 241,251
Xl 241,251
03 Al =2 THHI 1,749 0 1,749




SA: SADHY D
M dutsat SN
el SRATKESHY) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OU=d SESHA 43 MY 20l
1,749,000& * 14 1,749
Xl 1,749
402 RI2EX20l A 245,000 0 245,000
Xl 245,000
02 BI2HCH & AFH HI 245,000 0 245,000
QNS SESAX B85 MY ASBSAL
245,000,000 * 14 245,000
Xl 245,000
HACRASE E 5,508,571 3,875,700 1,632,871
X 3,856,000
s 1,652,571
SEUNY SENSTMLAY 668,586 475,700 192,886
X 468,000
s 200,586
401 Al HI YL =2 T 3,586 3,425 161
Xl 2,500
s 1,086
03 AlE 2 THHI 3,586 3,425 161
EFY SEUSTEMNLAY AIZ20HI
668,586,000& * 0.5363% 3,586
Xl 2,500
i 1,086
402 BI2EX =01 M 665,000 472,275 192,725
Xl 465,500
s 199,500
02 RI2HCH &AM HI 665,000 472,275 192,725
OBSH SENSESNLANY LBASSAY
=l 665,000,000& * 14 665,000
Xl 465,500
s 199,500
gof 2 SEHUIAY 1,931,414 784,300 1,147,114
Xl 1,352,000
s 579,414
401 Al HI R 201 I 6,414 4,941 1,473
Xl 4,500
[ia 1,914
03 Al 2 THHI 6,414 4,941 1,473
Odoi =z SSFHIAMY AIERUH
1,931,414,000& * 0.33208% 6,414
X 4,500
s 1,914
402 2I2HAHE01 M 1,925,000 779,359 1,145,641
X 1,347,500
s 577,500
02 BI2HCH & AF R HI 1,925,000 779,359 1,145,641




SA: SADHY D
HE: b A0 E N
Sl AP S FY) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLiZaS SEHAY LB
1,925,000,000& * 14l 1,925,000
Xl 1,347,500
e 577,500
HQUEHA ZSEFHIAY 1,000,000 1,481,400 A 481,400
X 700,000
fia 300,000
202 o4dl 2,000 0 2,000
Xl 1,400
s 600
01 = LH o4 1l 2,000 0 2,000
Oz A glEaY SHIUAY S22 Y
o4 dl 2,000,000& * 14l 2,000
Xl 1,400
e 600
401 Al HIZ 201 Y] 857,000 1,371,400 A 514,400
X 599,900
i 257,100
01 A& HI 851,000 1,347,067 A 496,067
OTAH ZEAY ST AL
851,000,000 * 14 851,000
Xl 595,700
s 255,300
03 A& S THHI 6,000 5,333 667
Oz A SUEAS SEIUIAY AIEZ20UHI
1,000,000,000& * 0.6% 6,000
Xl 4,200
e 1,800
402 DI2HX 20| & 141,000 110,000 31,000
Xl 98,700
s 42,300
02 QI2HCH & AFH HI 141,000 110,000 31,000
OT AN SUEAS SEIHAY NG
M RI==E A | 141,000,000 * 14 141,000
Xl 98,700
i 42,300
2 SEHUAY 800,000 671,400 128,600
Xl 560,000
s 240,000
202 oddl 2,000 0 2,000
Xl 1,400
s 600
01 = LH o4 1l 2,000 0 2,000
OllgAY SEFHAY =22l FUoL
2,000,000 * 14l 2,000
Xl 1,400
e 600
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SA: SADHY D
M dutsat SN
Sl AP S FY) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 668,000 471,100 196,900
Xl 467,600
e 200,400
01 A& HI 663,000 466,871 196, 129
O0lgdY S FHIALY  663,000,0008 1A 663,000
Xl 464,100
s 198,900
03 A2 2 THHI 5,000 4,229 771
Ol ZSEFUIAY AlZR0HYI
800,000,000& = 0.625% 5,000
Xl 3,500
s 1,500
402 RI2EX20| ™ 130,000 200,300 70,300
Xl 91,000
[ia 39,000
02 BIZ2HCH & A& HI 130,000 200,300 A70,300
OO0l SSEHIAY NS LsAE <
=&AL HI 130,000,000 * 14 130,000
X 91,000
[ia 39,000
CHOISEY SSEEHAME 600,000 462,900 137,100
Xl 420,000
i 180,000
202 (44l 2,000 0 2,000
Xl 1,400
[ia 600
01 S LHOYI 2,000 0 2,000
OEZAHY ZEIHAMY X2l o
2,000,000& = 14 2,000
Xl 1,400
s 600
401 AIEHI L 20HYI 498,000 342,900 155,100
Xl 348,600
s 149,400
01 A& Hl 495,000 339,567 155,433
OEZAHY ZSHHIALE  495,000,000& * 14 495,000
Xl 346,500
e 148,500
03 AIE S THHI 3,000 3,333 A 333
O ZAY ZSEFHIAY AlZ 20
600,000,000& * 0.5% 3,000
Xl 2,100
i 900
402 RI2EX=20| A 100,000 120,000 A20,000
X 70,000
s 30,000




2N
X ZH -
L= B

el

M e

8
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(FR=a
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0
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=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2I2HCH & A S HI 100,000 120,000 220,000
OSZAY SSHHIAY NAASLSHAY <
=&AL I 100,000,000& * 14l 100,000
Xl 70,000
[ 30,000
FXE0S ¢HS) SE2EE SEMEAMS 508,571 0 508,571
Xl 356,000
e 152,571
202 oddl 2,000 0 2,000
Xl 1,400
= 600
01 = LH o4 1l 2,000 0 2,000
O3 842 SSHLAY N2l 240
=]l 2,000,000& * 14l 2,000
X 1,400
e 600
401 Al HIZ 2018 2,571 0 2,571
Xl 1,800
s 771
03 A& S THHI 2,571 0 2,571
OZF BYAA ZHNLAY ANL20Y
508,571,000 * 0.5055% 2,571
Xl 1,800
e 771
402 RIZEX20| A 504,000 0 504,000
Xl 352,800
s 151,200
02 BI2HCH & AL HI 504,000 0 504,000
O2F 8229 SEHLANY U2 25 A
=l 504,000,000 * 14l 504,000
Xl 352,800
e 151,200
pE UL TE=2I% 1] 990,000 1,689,000 699,000
Xl 693,000
fia 297,000
SEMBHLTH AL 990,000 1,689,000 699,000
X 693,000
s 297,000
401 A& HI L 20l 990,000 1,689,000 699,000
Xl 693,000
[ia 297,000
01 A& HI 984,000 1,682,919 A 698,919
O[AI&HI] 984,000
OsEMESHIHH ALY
984,000,000 * 14! 984,000
Xl 688,800
s 295,200
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SA: SADHY D
HE: UBhs MO RN
S D= MEI T etAE| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 Al S THHI 6,000 6,081 A81
O=sZEMesZ I ALY AlZ =20l
990,000,000& * 0.606% 6,000
Xl 4,200
[ 1,800
HEEX ALY 140,000 0 140,000
Xl 112,000
e 28,000
AAHE Ael= MEsSW S0 02 140,000 0 140,000
X 112,000
= 28,000
207 Ao ] 70,000 0 70,000
X 56,000
s 14,000
01 289 70,000 0 70,000
OunsZz Y A3289Y|
70,000,000& = 14! 70,000
Xl 56,000
e 14,000
401 A& HIZ 201 Y| 70,000 0 70,000
X 56,000
s 14,000
01 A& HI 70,000 0 70,000
OXgE &dels MEstn H00tS A€l
70,000,000& * 14! 70,000
Xl 56,000
i 14,000
2L (S AIHL D) 53,926 57,128 N 3,202
PIEET 53,926 57,128 A3,202
SAZ2E J1=234l 24,191 26,826 A2,635
201 Let249] 15,491 15,482 9
01 At 22/l 14,458 14,458 0
Olgers=&tl] 11,056
ORN2E SUNY 11,056,000& * 14 11,056
Ol=&Hl] 3,402
ORAN2E SUNY 3,402,000 = 14 3,402
02 232gHl 1,033 1,024 9
Ool2222 ¥ HMAl 1,033
OENESs SIE 1,930 = 2824 = 12& 649
OJMNZs HIIe=s 32,000& « 123 384
202 O4dl 4,500 7,144 A2,644
01 201l 4,500 7,144 2,644
O[=2uUobl] 4,500
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2N

S A3

MM HH2AZH (S AL D)
el Jl=2 3 eEH)
SA-EB B (BH) - MRAY - B il 2t

ORNEYE SHAHAN 4,500,000 * 14 4,500

203 & R =&t 4,200 4,200 0

04 ENSIHRF=EY| 4,200 4,200 0
ORNS2IgIRF=&Y| 350,000& * 12& 4,200

SANEE Jl23Y) 8,895 9,462 A 567

201 Bt A | 4,813 5,380 A BB7

01 At 22l bl 4,813 4,813 0
Olget2d|] 2,857
OFRNESE SHHA 2,857,000 * 14 2,857
O[=2&Hdl] 1,956
OFRNE2E SHHA 1,956,000& * 14 1,956

202 04| 4,082 4,082 0

01 2L Y| 4,082 4,082 0
Ol=uWdabl] 4,082
ORNEYE SHAHA ,082,000& = 14l 4,082

JHEEE D=2 & | 9,749 9,749 0

201 2yt 2 Y| 6,688 6,688 0

01 At 22l ] 6,688 6,688 0
Olgetsgdl] 4,392
OFRNESYE SHHA ,592,000& = 14! 2,592
OHEHEZESH P2¢ 90,000& * 20 1,800
O2&Hl] 2,296
ORNEY SHAHAN ,296,000& * 14l 2,296

202 044l 3,061 3,061 0

01 2LHOHI 3,061 3,061 0
Ol=uWdAdl] 3,061
ORNEY SHAHA ,061,000& = 14l 3,061

A=g J|=H| 11,091 11,091 0

201 et Y| 8,029 8,029 0

01 At 22l ] 8,029 8,029 0
Olgetsgdl] 6,804
OFRNESE SHHA ,804,000& * 14 6,804
CIE=EEL:N 1,225
OFRNESE SHHA ,225,000& * 14 1,225

202 04 d| 3,062 3,062 0

01 2L Y] 3,062 3,062 0
ORANEE SHHA ,062,000& * 14! 3,062
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